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I Blg Bear Cqmps:‘l‘e gives dll of their
-guasts lanterns to help see at night. They
have 568 lanterns but after testing them -
1 nonad that 218 lanterns didnt wark How :

many lanterhs are working?

5

[/

2. Golden Canynn Cumpsrfe selfs sFee;}mg {
Fr'lq’uy 'H'ley hud |
BCI"i sleepmg bqge and’ sald 332 that day, H

new shspmerﬂ' cdme in on Sq‘rurdq\,r with

bugs at their mini-mart. On

"E6q more sleeping bags. How mqny s!aepmg

bc:gs does the mini-mart hcwe naw'p g

3. Blue Sky Bay Campsite has a
weTcome pc:r'l‘y every Friday night for ;
‘H']e]r cqmpers Tbmgh'l' They re roaa‘hng

mcrshmaﬂows Cumpar J'c?hn brnugh‘r

125? rnqrshrnail'cws cnd Cnmper Alice 4
brough‘f‘ q66 How many mﬂPShmu][owb :

BIue "l.fuﬁey Campsd‘e |

Shendundguh Campsi‘l‘e |

: do fhev hcwe for the welcome party?
i

Lake Anna _Cﬁﬁpéife

“sn

: H?Z cqmpera were auppased o
.camp af Bryce Cumps[fe '['onlgH' But
. 'Hmen 137 tqmpers left becadse they
saw a bear! Bryce Cumpar‘]‘e putup a | 6. He
vacancy sfgn and 67 new cqmpers '
] cqme How many campers are now at

'I‘he camparf‘e tonight?

[
', i

-cqmpsr‘res in June?

Valley Cumpsr]‘e than Lake Anng Campari‘e':‘

ow mr::l!'l‘_-’ Gampera were at 4l 'f'hl'aua e
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ow many more campers were at B
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Name: 8

Z Step Word Problems

Amar bought a hew hat for $19 and q game for $16.
How much did the items cost? Amar had two $20
bills. How much change did he receive?

]

e 2

My mom bought 5 pizzas. They cost $9 each. She
had $50. How much change did she receive?

©www.thecuy rriculumcorner.com
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Name: ___ o ;
Rounding Numbers =7

Directions: Round each humber to the
nearest 10 and then the hearest 100.

{

rounded to the rounded to the
hearest 10 nearest 100

317

723

655

208

939

146

372

364

481
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MName:

Solve each division problem,
Answer the riddle,

Super Division Warksheats

Divisors 4.0
Fage
22

To find the answep to the riddle, write each
letter on the matching quotient below.
T 63:9- B 3924
i w k
W 40:8- ¥ 45:5- 7 94:6-
S P 0
V7 97:9. 18+9= ¥ g6
i I '
100+10 -
h |
7 6 1 1m0
2 4 4 8
7 4 5 3 &

Toaekar' Tabe. Ol






Name:

Multiplication & Division

Solving word problems.

Each package of water bottles has four rows. There
are six bottles in each row. How many water bottles
are in a package? Write a humber sentence and draw a
picture to show your thinking.

If there are eight packages of water bottles in a crate,
what is the total of all the water bottles.
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Ii =21 + 2L 7l = X 21
; - 01 = 0/ oL= [ |xor
'.i: =11 = 66 66 = X 1T
i. -9 + G p=[ | x9
0 =2 + 02 2= X 2
E_- =8 + ¥9 79 = X 8
f-: - + OF 9€ = X {7
':i =/ + 6¥ 6 = % 2
::' =6 + Gf Gty = X 6
E = = Ve e = X €
I -G + GI ar=| |xg
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DATE:
BLANK MULTIPLICATION TRBLES I-12

NAME:

4 x 10 =

4 x 11

4 x 12

8 x 10 =
8 x 11 =

8 x 12

12 x 0

12 x 1

12 x 2

12 x 3

12 x 4

12 % 5

12 x B

12 x 7

12 x 8

12 % 9

12 x 10

12 x 11
12 x 12

1

3 x 10 =
3 x 11
3 x I2

7 x 10 =
7 x 11
7 x 12

11 x 0O

11 x 1

11 % 2

L 53

11 = 4

11 x §

11 x 6

1. % 7

11 x 8

11 x 9

11 % 10
11 x 11
11 x 12

2 x 10
2 x 11

12

6 x 10
B x 11
6 x 12

10 x 0

10 x 1

10 x 2

10 x 3

10 x 4

10 x 5

10 x 6

10 x 7

10 x B

10 % 9

10 x 10

10 x 11
10 x 12

10 =
11
12

10

11
12

10
i
12




=21 vt =TT +C¢El = 0T +0¢1 6 +801
= ¢l < CE1 =TT +1C1 = 01 +0IT 6 + 66
=¢1 +0c1 =11 +0TT = 0T +00T 6 + 06
= ¢T +801 =TI + 66 =0l + 06 6+ 18
=71 + 96 11T + 88 =0T + 08 6+ L
=q1 + 18 T s LL =0T + 0L B & €9
=7l + 2L LT &= 8D =0T + 09 6 + VS
=¢r + 09 TT + SS = 0T + 0S b+ SP
=71 + 8 =11 + v =0T + OF 6 + 9¢
= ¢l + 9€ = FF+ EE = 0T + O€ 6 = AT
=7l = ¥¢C =TI + €€ = 0T + 0¢ 6 + 81
=7l + (1 =TT + 11 =0T + 0T 6+ 6
=7l + 0 =11+ 0 =0T+ 0 6+ 0
= 8+ 96 = L+ V8 =9+ CL %+ 09
= 8+ 88 = L+ LL 9 + 99 & % 9%
= 8+ 08 = L+ 0L 9+ D9 S+ 0S
=8+ €L = L+ &9 g9+ ¥8 S+ SY

8 + ¥9 = L+ 95 9+ 8 S+ 0V
= 8 + 95§ = L+ 6V =9+ (¥ § + St
= 8+ 8F = L+ 9% BE S + 0t
=8+ 0v = % 58 9% Ot § %+ §¢
= 8+ (€ = [+ 8C 94 Vi G + 0
= 8+ V¥ = L+ TC 9+ 81 G+ ST

8 + 91 = L+ V1 =9+ ¢l g+ 01
=8+ 8 =l # L =9+ 9 5% 9
=8+ 0 = L% 0 =9+ 0 S+ 0
=¥+ 8V = €+ 9¢ = ¢+ Ve 1% €l
=¥+ W = €+ g€ =7+ @C T+ 1l

r+ 0b = €+ 0¢ £ % DL T+ OI

7 + 9€ = €% L =7+ 81 L%+ 6B

b+ CE = € ¥ ¥¢ =2+ 91 T+ 8
= ¥+ 8¢ = g+ 1¢ ¢+ vl L+ L
= 7+ ¥ = g+ 81 ¢+ (1 b= 9
= ¥+ 0C = g+ Sl ¢+ 0t 1+ 8
=¥+ 91 = g+ 10 =T+ 8 T+ v
=7+ 0 =€+ 6 = ¢+ 9 L% &
=7+ 8 = g+ 9 =+ ¥ L+ C
=+ ¥ = €+ € = C¥% € T+ T
=7+ 0 =€+ 0 =7+ 0 I1+0
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Finding the perimeter.

Directions: Add the length of the sides to O
find the perimeter of each shape.

8 fi

l' The per‘in";é’rer is: |
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| cookies and Billy ‘ate 6/12. - ;

Who ate more cookies?
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| eating a bateh of cockies, |
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